Windpark Z6éschingen

Jahr 2014
5000000 (3 von 8 Anlagen)
1.750.000
1.500.000
1.250.000
=
X~ 1.000.000 I I
- I I I I
- I I I I I I I I I I
250.000
0 . ,
Januar Februar Marz April Mai Juni Juli August September | Oktober November | Dezember
m Soll p.m. kWh 1.700.108 | 1.411.954 | 1.383.139 | 1.022.946 792.423 835.646 850.054 850.054 1.094.985 1.282.285 1.556.031 | 1.628.070
H Ist p.m. (Zahler) kWh 1.064.565 1.072.103 1.232.378 795.105 1.050.690 628.954 726.375 713.126 495.296 719.494 514.013 1.581.720
kumuliertes Jahres-Soll| 1.700.108 | 3.112.062 | 4.495.201 5.518.147 | 6.310.570 | 7.146.216 | 7.996.270 | 8.846.324 | 9.941.309 | 11.223.594 | 12.779.625 | 14.407.695
kumuliertes Jahres-Ist 1.064.565 2.136.668 | 3.369.046 | 4.164.151 5.214.841 5.843.795 6.570.170 | 7.283.296 | 7.778.592 | 8.498.086 | 9.012.099 | 10.593.819




